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INSTRUCTIONS

s Arswer four questions in total:
Secticn A: answer Question 1.
Section B answer three questions

Fallow the instructions on the front cover of the answer tooklet. |f you need additional answe” paper,

w
ask the invigilator for a coniinuation booklet.
» You may use s calaulator,
INFORMATION
¢ The tatel mark for this pape: ie 80,

The number of marks for each guesion or part cuestion Is shown In brackets [ ],
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A ail parts of Question 1 Refer to the SOUTEE raterial in yaur answWears.
(a} Caizutate the nimbe: of Barmudian werkers who ware unemployed in2018. 1l
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(c) Staie lwo ~sasons why a foreigr MNC ma
{d) Explain twe reasons why Barmueda has A tigher level of econcmic develspment than many
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other counines.
Analvse the role of the Bermudian Mcnetary Autharity (BMA).
154

&)
Analyea tha relationsh p hatween GDP perhead and lite expectancy.

()
(g) Discuss whelher w oot Dermudiar government policy measues designed in reduce
uremplayment would increase the inflation rate. 181
(hl Discuss wheher or not higher indiract taxes ran raduce the market failure ceused by demerit
(6]

goods.
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Spouth Africa (5A) experienced 3 racession in t

rate of 20%, Oy a8 smil proportion of his unsmployme d=U

exchange ‘ate fell from 1 S& rand = US50.03 in 2018 o 1 SA ran
Acan aocno

Afics had reduced 1mport tarlirs, but in 2012 some Swuth A
shauld be used to protect ils infant industries.
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duce a deficit on fhe currf:[réti

[8]

{a) Define fricimnal unemoleymant,

(b} E=plain why an infant Induetny may naed protection.

(c] Analyse how & fall In & country’s foreign exchange ras could re
account of its balance of payments.

(d} Disouss whethar or ret a reduction In Inoome tax will snd a racassion.

Mew Zealand is a small country with a population of 5 million. Most New Zealand firms are

relatively small and most do not experience diseconomies of scale. In 1894, New Zealand was tne

firat country to intraduce a natona minimum wage. Mew Zzaland experienced a rigse in income pes

head every year between 2010 and 2019. During this period, 6% of New Zealand's households
£l

experienced absolute povarty,
come household may borrow mora than a low-income
[4]

nd
18]

{a) Define diseconomies of scals.

{b) Cxplain two reasons why a high-in
household.

{c) Analyse, using a dagram, the eflect of ar increase in ou'put on average fixad cost (AFC) a

total fixed cost (TFC).
(d) Discuss whether or not the infroduction of a national minimum wage will reduce poverty. 181

Botswana's net migraton varies. In 2019, Botswana had net immigration. Since 2010, its
unemployment rate has averaged 18%. Between 2010 and 2019, the number of women in-the
labour force increased from 380000 to 490000. Although Botswana is one of Afiica’s richer
(2]
4
&)

18}

counlries, its households da not save much of their income.
(a) Identify two reasons why immigration may increase.

(b) Explain two consequences of unemploymert.

(c) Analyse why more wornen may join a country’s labour force.

(d) Discuss whether or not a governmeni should encourage an increase in saving.
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5 The economic problem means tha
of its agricultural land
chocolale producer
the largest seller of

t countries have o decide whal W produce, ﬁ:;i-:j:?i?:smn:;;
to grow cocoa. Cocoa is sald tn chocolata pmlﬂh‘?ﬁm' kat. That firm was
in 2019 was a US firm with a 14% share of the global mar Jl
chocolate in the US and, if it merges, may become a monopoly.

12]
(@) Define the economic probient.
[4]
(b) Explain whether land is mobils.
: 2 1)
(€) Analyse the causes of a shift to the right in the supoly curve of chocolate.

2 o, o o S o
(d) Diseuss whether or nol consumers would Benefit from a fi'm becomin g a monopoly




